Uses that are not typeset

The possible causes of a use not being typeset are as follows.

e The use might not have been typeset because of quict mode.

e The use might be within default abbreviated notation.

In other words, it might be in a generic name’s omitted instantiation list
(which can be revealed by the instantiation command) or in the character-
istic tuple of an omitted e part (which can be revealed by the characterization
command).

e The use might be implicit in a theta expression or schema predicate, in
which case it can be revealed by cipansion commands.
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